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QUESTION 1

When upgrading a VMware vSAN cluster to version 6.5, which two tasks must be completed to comply with upgrade
requirements and VMware-recommended best practices? (Choose two.)

A. Use RVC to upgrade the hosts.

B. Use the latest available ESXi version.

C. Back up all VMs.

D. Use only the "Full data migration" maintenance mode option.

Correct Answer: BC

QUESTION 2

What VM Monitoring setting would ensure that the maximum reset window for a virtual machine is 24 hours?
A. Normal

B. Low

C. High

D. Medium

Correct Answer: D

https://blogs.vmware.com/vsphere/2014/03/vsphere-ha-vm-monitoring-back-basics.html

QUESTION 3

By default, how often is the vCenter vpx user password automatically changed?
A. 15 days

B. 45 days

C. 60 days

D. 30 days

Correct Answer: D

vCenter Server creates the vpxuser account on each ESX/ESXi host that it manages. The password for each vpxuser
account is auto-generated when an ESX/ESXi host is added. The password is updated by default every 30 days.

QUESTION 4
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What counter should an administrator check to determine if a virtual machine is ballooning?

A. swapinRate

B. vmmemctl

C. vmmemctltarget

D. swapped

Correct Answer: B

Memory Ballooning is the memory reclamation technique used by hypervisor to reclaim the memory back from the

virtual machine. When ESXi host running low on physical memory, It uses ballooning driver (vmmemctl.sys) to
determine the how much memory from virtual machines can be get back to prevent the hypervisor swapping.

QUESTION 5

Which feature of vSphere networking protects hosts from losing connection to vCenter Server as a result of
misconfiguration of the management network?

A. NIC Teaming
B. Private VLAN
C. Rollback

D. Health Check
Correct Answer: C

By rolling configuration changes back, vSphere protects hosts from losing connection to vCenter Server as a result from
misconfiguration of the management network.

QUESTION 6

Which is the predefined user name when publishing a Content Library?
A. admin

B. root

C. administrator

D. vesp

Correct Answer: D

QUESTION 7
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What are two valid reasons for a DRS recommendation in a vSphere DRS cluster? (Choose two.)
A. satisfy an affinity rule

B. satisfy VM startup/shutdown order

C. satisfy vSphere HA admission control

D. ESXi host entering maintenance mode

Correct Answer: AD

QUESTION 8

Which two statements are true regarding Auto Deploy in version 6.5? (Choose two.)
A. Auto Deploy can be configured and managed via PowerCLI.

B. Auto Deploy can be configured and managed via the vSphere Client.

C. Auto Deploy can be configured and managed via the vSphere Web Client.

D. Auto Deploy can be configured and managed via vCLI commands.

Correct Answer: AC

QUESTION 9

In a vSphere environment, two resource pools are created as shown in the Exhibit.
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6GHz, 6GB

2GHz, 2GB 2GHz, 2GB

Each VM is configured with 1 GB of memory. When the administrator tried to power on VM3, the operation
failed.

What action in the resource pool settings will allow VM3 to power on successfully?

A. Increase Memory Reservation.

B. Deselect Expandable Memory Reservation

C. Increase the CPU Reservation

D. Deselect Expandable CPU Reservation.

Correct Answer: A

QUESTION 10
View the Exhibit. The exhibit represents a vCenter HA with external Platform Services Controllers in a
highly available deployment.

How many vCenter Server 6.5 licenses are required?
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Correct Answer: D

QUESTION 11

An administrator has decided to use Auto Deploy in the environment. Which two considerations must be taken into
account before configuring Auto Deploy? (Choose two.)

A. Hosts in a cluster must be connected to a Distributed Switch.
B. Host profiles are not supported when using Auto Deploy.

C. DHCP must be configured to support PXE boot.

D. Storage DRS must be enabled.

E. A TFTP server must be setup and running.
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Correct Answer: CE

QUESTION 12

An administrator has multiple vCenter Server 6.5 systems but cannot enable Storage I/O Control (SIOC) on a datastore
shared by ESXi hosts managed by the vCenter Server systems. Which action should the administrator take to resolve
the issue?

A. Unmount the datastore and then enable SIOC on the vCenter Server system.

B. Configure the datastore to be managed by a single vCenter Server system.

C. Configure Storage DRS and then enable SIOC on the vCenter Server system.

D. Enable Raw Device Mapping (RDM) on the ESXi hosts.

Correct Answer: B

Before enabling SIOC, ensure that datastores are managed by a single vCenter Server.

QUESTION 13

Which two parameters must be configured for Windows in-guest disk mirroring? (Choose two.)
A. scsi#.returnNoConnectDuringAPD = "FALSE"

B. scsi#.returnNoConnectDuringAPD = "TRUE"

C. scsi#.terminateVMONPDL = "TRUE"

D. scsi#.returnBusyOnNoConnectStatus = "FALSE"

Correct Answer: BD

QUESTION 14
What are limits of vCenter Libraries in vSphere 6.5?

A. Total items 2000, Biggest item size 1TB, total libraries per VC 1000, total items per library 1000 and max number of
syncs 16

B. Total items 4000, Biggest item size 512TB, total libraries per VC 2000, total items per library 2000 and max number
of syncs 24

C. Total items 1000, Biggest item size 1TB, total libraries per VC 1000, total items per library 1000 and max number of
syncs 16

D. Total items 2000, Biggest item size 1TB, total libraries per VC 1000, total items per library 1000 and max number of
syncs 32

Correct Answer: A
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QUESTION 15

An administrator is attempting to access an ESXi host via the DCUI but is unable to do so. Which could be two possible
causes? (Choose two.)

A. The host in question has no out-of-band management capability (i.e. iLO/IDRAC).

B. The SSH service is disabled on the host.

C. Strict lockdown mode is enabled on the host.

D. Normal lockdown mode is enabled and the administrator is a member of the Exception User list.
E. The DCUI service is disabled on the host.

Correct Answer: CE
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